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Topic:- General Knowledge

1) Name the voice behind the audio book ‘Wings of Fire’ written by the former President A.P.J Abdul Kalam. /

gd wpufa TS srsger ward gRT forfea oiifedt geas faw e wrar & e yfiy R & 713 Smaret &1 9
qarsu|

1. Girish Karnad / 1 s

2. Om Puri / 3 G

3. Amitabh Bachchan / 3{fHATY s=a
4. Amrish Puri / 3R EI,_\PT

Correct Answer :-

« Girish Karnad / fTRI® 35'_‘”3

2) Name the Indian who was the co-recipient of the Nobel Peace Prize along with an activist from Pakistan in
2014./

2014 ¥ UIfha™ & TS SRIGAl & ATY Tad ifd REPR & Gg-UTadbdi giF a1ed R BT 419 Fang |
1. Malala Yousafzai / HITCIT ﬁqﬁrﬁg

2. Medha Patkar / B&T GTCahR

3. Anna Hazare / 3= IR

4. Kailash Satyarthi / =1 gt

Correct Answer :-

« Kailash Satyarthi / e g

3) Who among the following Indian Architects was named as ‘India’s Greatest Architect’ by the Royal Institute of
British Architects? /

fFrefafaa o @ fra uRd IRgeR 3 Iaa S tege oifp fafes snfbeaea & grRT *URd & 9ed

G aRgPR' HT ol faar T

1. M. Visvesvaraya / UTH fagsan

2. Achyut Kanvinde / 3d CIRICH
3. Prem Nath / O 1Y

4. Charles Correa / TeH PIRAT

Correct Answer :-
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e Charles Correa / T DIl

4) Who among the following started the famous Madhav Music School in Madhya Pradesh in 1918? /
Ty | Uik ATya Wiita w@d 1918 ® fafafea o & fad grT 3= fvar mar anr
1. Vishnu Narayan Bhatkhande / ﬁ'ﬁfﬂ ARV Had S

2. Ustad Ali Akbar Khan / 3G 31cll 3fhaR T
3. Ustad Alauddin Khan / 3¥dIq 315”3?,‘ EREIG]
4. Krishnarao Shankar Pandit / PRI Qb3 Uf&d

Correct Answer :-

« Vishnu Narayan Bhatkhande / ﬁml AR YIS

5) Who among the following was born in Bilaspur of erstwhile Madhya Bharat and became a legend in Hindi and
Marathi theatres? /

FrafafEd # 4 919 yayd 99 YRa & fIaragR 7 ter gu 3 ok f§d vd wridl g A ve frma a1 ma A2
1. Satyadev Dubey / 24 g8

2. Dev Ananad / G4 3{IFig

3. Habib Tanwar / 89 daR

4. Gulzar / T[eIoIR

Correct Answer :-

« Satyadev Dubey / qacd _S'ﬁ

6) Lal Bahadur Shastri Institute of Public Administration established by Government of Madhya Pradesh in 1966

was renamed as /
1966 H TS A GRT I AT TETGR ATA AP URATHA WA BT ATH TGADY o fear
g

1. Atal Bihari Vajpayee Institute of Good Governance and Policy Analysis /
Sree fogr) arers gRIa o iy fararor Sy

2. Madhya Pradesh Academy of Public Administration /
HE YR ol TR S{pTeH!

3. R.C.V.P.Noronha Academy of Administration and Management /
3R 1. 41, RIGT U= T UaRIb 1 SfepTaH!

4. Ravishankar Shukla Academy of Public Administration /
IR YT SHBIGHT T UfeeToh TSR

Correct Answer :-

« R.C.V.P.Noronha Academy of Administration and Management /

MR . TRIeT YR Ud USRI SfbTeHT
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7) ‘Maximum City’, a non-fiction book by Suketu Mehta was based on which Indian city? /

b d Hedl gRT Rifad A1-feaxr qeae Aferaw Rid) fea yRdta 2ew w smurfa B
1. Bengaluru / W
2. Delhi / feeai!

3. Mumbai / Hmé
4. Kerala / B3

Correct Answer :-

« Mumbai / IS8

8) ‘Ramnath Goenka Award’ is presented for which field of excellence?/

IMATY MYThT REPR’ fha &7 & Iptear & fore faar wimar 82
1. Agriculture / ?ﬁf

2. Science / faq

3. Technology / SCEIG

4. Journalism / GBI

Correct Answer :-

« Journalism / GBTRAT

9) Padma Vibhushan Ustad Allauddin Khan, the great musician of Madhya Pradesh, is settled in .
T YT & HE™ WaPR Ul f[ayuur 3G SIS - @ # 59 MU

1. Chanderi / I&<1

2. Katni / e

3. Maihar / ﬁ%?

4, Mandu /Il'i_ﬁ'

Correct Answer :-

o Maihar/ ﬁ??

10) What is the percentage of unexploited geographical area in Madhya Pradesh endowed with rare and valuable
herbs and medicinal plants? /

qmu%mﬁamﬁmwﬁﬁﬁwaammw%aﬁgﬁuaﬁ?wﬁa@qﬁﬁaﬁwﬁmﬁuﬁ%ﬁﬁ
JUA 8?2

1. 20% to 25% / 20% ¥ 25%

2. 26% to 30%/ 26% I 30%

3. Less than 20% / 20% 9 &H

4. More than 30% / 30% ¥ 3%

Correct Answer :-

« More than 30% / 30% ¥ 3ifI
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11) Rashtriya Swayamsevak Sangh was founded in 1925 by: /
1925 ¥ WP WOHTP WY F RIS DI A2

1. Mahatma Gandhi / HelHT Tieft

2. V.D. Savarkar / Ao YA

3. Lokmanya Bal Gangadhar Tilak / AIHATT 19 TR foas
4. K.B. Hedgewar / &, &, %?:ﬁTﬂT

Correct Answer :-

« K.B. Hedgewar / & %@':ﬁaﬂ

12) Name the interior designer who has designed the interiors of India’s luxury train - ‘The Palace on Wheels and
The Royal Orient’. /

I ENER fEosR &1 0 qaig. foeiR URd 3t g9 daen 3 'S Taw 3 e s ¢ aa sifvge”
& Sfiaie UTT fEams fFa |

1. Anjum Jung / 3IS[H 97T
2. Rajiv Saini / Jrod It
3. Twinkle Khanna / f¢erd @=1
4. Monica Khanna / Ff-TasT =11

Correct Answer :-

« Monica Khanna / HIfSebT =1

13) Lokranjan, a national festival held in Khajuraho every year, relates to which one of the following fields? /

%@wﬁmw-mvwmmmmm%,mwumﬁmm

1. Classical dance / QTR ]

2. Classical music / AT G

3. Folk dance and arts / @b ] 3R el
4. Hindi films / =t ftoe

Correct Answer :-

« Folk dance and arts / Tld g 3R el

14) Bharam, Setam, Saila and Ahirai are the traditional dance forms of which of the following tribes of Madhya Pradesh? /

YR, A, AT iR RS weames ot Frafafad & @ fea smenfa #1 yRuie T Aferi 32
1. Bharia / HTRAT

2. Gond / IS

3. Bhil / Hiel

4. Baiga / 91T
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Correct Answer :-

« Bharia / HTRAT

15) Dr. Vishnu Shridhar Wakankar from Madhya Pradesh is related to which one of the following fields? /

AU & 1. fawy fier areuer Rl o F 59 &7 @ walta g

1. Archeology / YRIdwd
2. Social service / THTST JaT

3. Anthropology / HId-RIT¥d

4. Atomic energy / UXHIU] Sl

Correct Answer :-

« Archeology / GRId™d

GET IT ON
Google Play

16) The folk song called ‘Dhola Maru’ in some parts of Madhya Pradesh finds its origin from which of the

following states of India? /

TR & $O 7l | eie ARe' ATH® i i @1 saf Fafafaa i 9 frasa d g2

1. Uttar Pradesh / 3«iX m
2. Maharashtra / HEIRTS

3. Rajasthan / TSR
4. Gujrat / J[oIRTd

Correct Answer :-

« Rajasthan / ST

Topic:- General Hindi

1) $3R & forg 9 wafaardt are 2rsd} Y ufd &t gfe)
1. 3T, THTEAT, HITAT

2. B, THTEAT, WTdH

3. Ty, TETEHT, WTaT

4. g, STGIRT, HITdT

Correct Answer :-

o Y, SATEIR, W

2) 3iTEN ® Y& NPT - GeTar 31 3 g fApeai A A w AT e

1 femrs g

2. §gA g:@ gl
3. 4IGT G

4. g Uhe gl ol
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Correct Answer :-

3) B9 Bd U HIAd axt §5 7@ B &3 | - F A P19 91 eeeR 82
1. SUHT 3[APR

2. EUBTARINRT SHABR

3. EPIA 3APR

4. I SABR

Correct Answer :-

. JUHT ABR

4) Hdy - & forg vt 6fYr fa=dsg =) g
1. ‘GII[JrFﬁN

2. qE+AN

3. JE+ART

4, gAY

Correct Answer :-

. AN

5) gAY - BT Y U AT A A I AT 82
1. RibeY

2. ghdy

3. Fhed

4. gbeq

Correct Answer :-

6) IENK - & frg Wt wfY fadg &t gfu
1. 3&+8R

2. 3&+BR

3. 3g+eR

4. 3q+8R

Correct Answer :-

. B?[""BR

7) B PR 1Y 591 9N guiE Sfra au diewg W) - ® e & @ o1 11 R 32
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1. TUD TADR
2. TG AAPR
3. U 3TADR
4. TAY ADR

Correct Answer :-

. IPIad APR

8) 3ifH - I AT T 3Ieg P A A BT ATR?
1.3y
2. M
3. AT
4. 31T

Correct Answer :-

o YN

9) 3ifaw agt 3T - geTar 1 S P A A A S AT 2

1. U B RIF R U E
2. 5 qHY Tl

3. g e 31

4. FRER B

Correct Answer :-

. O Ade 3T

10) ‘FeREew AT A AP ATINNE R 2
1. Sgsilfe AN

2. 56 gAY

3. HHYRY AR

4. AU THN

Correct Answer :-

S ERSEIR

11) TRER TH g W e & Rl o g P A a s ar g

1. ST
2. SIS
3. 3FTTSd
4. AT

GET IT ON
Google Play
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Correct Answer :-

12) TAN-GHAT # 9 7 Q S 9190 82
1. Igsilfe T

2. fg o

3. g IAN

4. 3fSTHTS THIY

Correct Answer :-

R

13) Ry ST A s FE A A S AT R?
1. fART=m

2. Fhdid

3. 7R

4. FReH

Correct Answer :-

14) M & 313 HTe F UgUR $SR B § TAThI |

WIS & I ST U B gl B aferg) sTe ATt - A FE A A P AR 2
1. 9l Y

2.5 X4

3. AR

4. HOHH T

Correct Answer :-

. AE™

Topic:- General English

1) Spot the error in the given sentence:

When she stood first in her class, she was the happier girl in our neighbourhood.
1. in our neighbourhood.

2. first in her class

3. When she stood

4, she was the happier girl
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Correct Answer :-
« she was the happier girl
2) Choose the correct form of clause for the given sentence:

The sailors waited

1. until the storm had passed
2. when the storm will pass
3. after the storm has passed

4. that the storm to pass

Correct Answer :-

« until the storm had passed

3) Choose the correct form of tense for the given sentence:
My father _ every morning in the fresh air.

1. walks

2. was walking

3. has been walking

4, will walk

Correct Answer :-

« walks

4) Choose appropriate articles for the given sentence:

In__ market, I found ___ beggar in tattered clothes, lying on ___ roadside.
1. the, an, the

2. the, a, the

3. an, the, the

4. an, the, a

Correct Answer :-

« the, a, the

5) Choose the appropriate conjunctions for the given sentence:

She was taken to the doctor at once; __ her condition worsened _____ she was hospitalized.
1. whether, if

2. but, though

3. then, if

4. however, and
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Correct Answer :-

« however, and

6) Choose the appropriate form of the verb that agrees with the subject in the given sentence.
Neither food nor water ___ to be found there.

1. are

2. have

3. be

4. was

Correct Answer :-

7) Choose the best option that is appropriate to fill in the blanks in the given sentence:

His and nature has won him many long lasting friends.

1. humane, benevolence
2. humane, benevolent
3. human, benevolence

4. humanity, benevolent

Correct Answer :-

« humane, benevolent

8) Choose the option that best transforms the sentence into its other voice:
The prisoner wrote a letter to his wife every week.

1. A letter was being written by the prisoner to his wife every week.

2. A letter was written by the prisoner to his wife every week.

3. A letter had been written by the prisoner to his wife every week.

4. Letters were written by the prisoner to his wife every week.

Correct Answer :-

« A letter was written by the prisoner to his wife every week.

9) Choose the option that best transforms the sentence into its other voice:
Why have you not visited your sister in the hospital?

1. Why was your sister in the hospital had not been visited by you?

2. Why is your sister in hospital not being visited?

3. Why is your sister in the hospital not visited by you?

4. Your sister in the hospital is not being visited by you why?
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Correct Answer :-
« Why is your sister in the hospital not visited by you?
10) Choose the appropriate prepositions for the given sentence:

Polio is a disease caused a virus that invades the nervous system droplet infection and can
cause paralysis two hours.

1. on, about, from

2. on, with, near

3. at, near, about

4. by, through, in

Correct Answer :-

« by, through, in

11) Choose the option that correctly spells the words to be filled in the given sentence:

During the world tour, my friend enjoyed visiting and

1. Seatle, Edinbugh
2. Siattle, Edinburg
3. Seattle, Edinborough

4, Seattle, Edinburgh

Correct Answer :-

o Seattle, Edinburgh

12) Choose the option that best fills in the sentence:

My salary is high but yours is higher. My salary isn’t

1. as high as yours

2. high like you

3. high like yours

4. more higher than you

Correct Answer :-

« as high as yours

13) Choose the option that is closest in meaning to the highlighted word in the given sentence:
You need to understand the different categories of the equipment and know what they can do for you.
1. suit

2. outfit

3. tools
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4, stuff

Correct Answer :-

e tools

14) Choose the correct adjective phrase for the given sentence:
The Mother Teresa Foundation is raising money for children

1. deformed with birth defects

2. deform with birth defected

3. deform with birth defects

4, deforming with birth defects

Correct Answer :-

o deformed with birth defects

Topic:- General Mathematics

1) Your birthday may fall on any day of the week. What is the probability that it falls on a Sunday? /
ATYHT T TwTg & fdt off fe v w1 71 59 1 Wildewar ¢ i 98 v Idar ot ug?

1.1

4 6

Correct Answer :-

2) The adjacent sides of a parallelogram ABCD measures 34 cm and 20 cm, and the diagonal AC measures 42 cm.
The area of the parallelogramis__ ./

TP GHHTAR g ABCD Ft 3RTF YWATT 34 A7t a4 20 Tt &, et fawof Ac 42 A B 1 ueiaR 9
FTETFA B

1 386 cm® / 386 HAL
5 276 cm? [ 276 JFHY
3, 672 cm? / 672 JHP
4 1344 cm? / 1344 {AY

Correct Answer :-
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. 672cm?/ 672 GHE

3) The mid value of the class interval is 42 and class size is 10. The lower and upper limit is: /
TP T SRT BT HE A 42 3 T4 & 3T 3MHR 10 31 51 7o 3= A e:

1.37-47

2.36-47

3.36.5-46.5

4.36.5-47.5

Correct Answer :-

e 37-47

4) The diameter of the driving wheel of a bus is 140 cm. How many revolutions per minute must the wheel make
in order to keep a speed of 66 km/hr. /

TP g9 & I3 ufed &1 =T 140 A B 1 66 fH/Eer &Y et Y 991€ 7@ F fore ufgal «1 ufa e
fra ufvpwur 3 smaxawar sift?

1. 250
2.2500
3.25
4.200

Correct Answer :-

« 250

5) The point of the form (a, a) where a * 0 lies on .

(a, a) ¥V aran fig, wigfa * 0, R R@ gar gl

1.the linex +y=0/3Wx +y=0

2. thelinex=y/Wx=y
3. x-axis / x-3H&

4, y-axis / y-3H&

Correct Answer :-

. thelinex:y/i"\fﬂx:y

6) If AABC and ABDE are two equilateral triangles such that D is the midpoint of BC, then area
(AABC ) : area (ABDE )is: /

4fe AABC Ud ABDE €& d#aTg Belel 38 YR § & BC &1 #edldg D §, <
(AABC ) &T &1%el - (ABDE ) & &19%d faFd &

1.2:1

2.4:1
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3.3:1

4.5:1

Correct Answer :-

e 4:1

The multiplicative inverse of 2 3 is the additive inverse of a number. The number is: /

z%wwmwmwmmgummﬁ

Correct Answer :-
-8

. 23

8) Ifaclosed metallic conical tank is 4 m deep and its circular top has diameter 6 m, then the area
of the metallic sheet required to make the tank is (take 1 =3.14): [

I org $T UF a9 AFaER Tl 4 F AR § dUT 56F dearer o & S 6 AT
g, ar T s & uged u1g Y X HT A § (m=3.14 )

1. 7536 m? / 75.36 HR
, 47.1m? [ 471 #P
3. 583m? / 58.3 #HY
4 62.12m? [ 62.12 HP?
Correct Answer :-

7536m? [ 7536 HE

9) (101x72)? =?
1. 52881984
2. 59924888
3. 58824999

4. 59291896

Correct Answer :-
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» 52881984

10) The degree of the polynomial (2x - )(2x + 1)(4x2 + 1)(16x* + 1) in its standard form is: /
3O HIh T F ggUG (2x - D2x + D= + )(16x* + 1) T 340 ¢

1. 16

2.8

3.6

4. 10

Correct Answer :-

11) Shilpa placed 76 candles in a row to decorate her garden during a festival. The distance between

: e il : 5
two adjacent candles is — m, then the distance between the first and the last candle is: /

fIedT o T igR & SRIa 39er Il &l 9o & v uve 9fdg & 76 Awefcaar
i o e Awafeadt & & HT gl DA it T W A A &
7 gl &

1.19m/ 19 HIcR

5 215 m / 215 HIR

205 m / 20% #Hrex
3. 2 2

182 m /1 182 #Hex
4, 4 4

Correct Answer :-

18%111 / 13%#13?

12) Simplify: 215 -[144 + (12x12)+(-8)-{2-12=7}] /
T HE215-[144 + (12x 12) +(B8)-{2-T2=7 }]

1.219

2. 199

3.205

4,243

Correct Answer :-

- 219
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{729
T'gin its simplified form is: /

E- ¥ prpen)

/729
WJ%T &l ?‘F{T‘ﬁﬁ HT %l
1.7
2.3
3.11
4.9

Correct Answer :-

14) ABCDisa square and E is a point inside square such that CDE forms an equilateral triangle,
then #/AFDis [

ABCDW@T%HNEWT?@HTW%@EHW%%CDEWW%@H
&7 [T #ag 8. adT2AED= |

1. ¥°
2. 60°
3, 15°
4, 90°

Correct Answer :-

Topic:- General Logical Ability

H
) If selling price of an article is i of its cost price, then the profit in the transaction is T
b} "
aﬁmﬁaﬁrwﬁwnﬂ.mmﬂﬂwziﬁsﬁﬁaﬁm el

1. 24%
2.25%
3.30%

4. 26%

Correct Answer :-
e 25%

2) The present ages of Pratap and Akhilesh are in the ratio of 6:7 respectively. After 6 years, their ages will be in the
ratio of 15:17 respectively. What is Akhilesh’s present age? /

AT 3R SFRAA B} IFAT 3R HH: 6:7 F U W &1 6 T & TG, IAD! AT HHT: 15:17 S Ut A
B sf@ery Yt adar sy waT 2
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1. 23 years/ 23 EL
2.28 years/ZSTﬂf
3. 25 years /25 L
4.30 years/303'5f

Correct Answer :-

o 28 years/28 G

3) X, Y and Z can separately do a work in 12, 15 and 20 days respectively. They started to work together but Z left
after 2 days. In how many days will the remaining work be completed by X and Y? /

X, Y U4 Z 3(CFI1-3E U P b1 HHRL: 12, 15 3R 20 Y & H T §1 3211 T WY B8 11 = fpar
A z 3 2 & & a1¢ il w1 BYs f3an X wd Y & gR1 A9 i foba fo= & grr 81 simeame

1.2days/2ﬁq
2.4days/4ﬁ_"f
3.5days/5ﬁq
4.3days/3ﬁ_*f

Correct Answer :-

. 4days/4feA

4) A box contains 5 yellow, 4 green and 3 white marbles. If 3 marbles are drawn at random, then what is the
probability that they are not of the same colour? /

TP g1 # 5 T, 4 B¥ 3MR 3 be URR &1 TS 3 TIRR TefD® U 9 e 9a &, S s uiRear g 5 a
THH TS g 82

[y
L2

-
Ln
Ln

L
L

L2

3.1
44

4. 41

Correct Answer :-

41
. 44

5) A gold smith has two qualities of gold, one of 13 carats and another of 17 carats. In what proportion should he
mix both to make amount of 16 carats purity? /

TH AR & URT G YHR BT T 7, TH 13 B BT 3R TH 3= 17 BIE BT 16 B YT aTam GRETOT YT
P & g I g1 oI ford srgura | e anfee?

1.2:1

2.3:2
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3.1:3
4.1:2

Correct Answer :-

e 1:3

6) If X, Y, Z, P and S are five consecutive odd numbers, then their average is: /
gfe X, Y, z, P Td S TTER U fauy ey €, af 39a1 ohud &:

1. 4(X+5)

2. (X+4)

3. 5(X+4)

XYZPS
4. 3

Correct Answer :-

7) A train takes 10 seconds to pass a pole and 200 meter platform in 20 seconds. Find the length of the train. /
TP ¢ B TPH GUT TR H3A | 10 AHS 3N 200 Hiex WeHhTH &) TR F1 A 20 HS T 8 | ¢ Pt da18
BIckad

1.190m / 190 HY

2.200m / 200 HY

3.210m /210 |t

4.220m /220 |t

Correct Answer :-

« 200m /200 H

8) In how many different ways can the letters of the word ‘BANKING’ be arranged? /

'BANKING' X3 & 31&R} @) fraq firg a8t J afRua farar o aoar 82
1. 2550
2.2540
3.2530
4.2520

Correct Answer :-

« 2520

9) Study the following information carefully and answer the question given below:

M, N, P,Q, R, S and T are sitting around a circle facing the centre. P is second to the left of S and third to the right
of M. T is third to the left of S. Q is not an immediate neighbour of S. N is not an immediate neighbour of M.

Who is sitting between R and N? /
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fFrafafad STeR @1 ergde ug 3R i fiT T yy S13wW ¢:
M, N, P, Q,R, S 3R T U g ¥ g B 3R Yg & ARTUI 93 U | P, S & qTS 3R GERT AR M & a8
MR AMRTIZI s F IS MR AR T 1 Q, S BT Aforhe TSR TS 81 N, M P71 I USRI A8t 21
RUGN S I A ST IST 2?2

1. T
2. M
3.P
4. S

Correct Answer :-

S

10) The ratio of male and female workers in a factory is 7:5 respectively. If there are 105 male workers, then find
the number of female workers in the factory? /

TP PRTAM H T3 3N AfFan 4f¥rel &1 Srgura wa=n: 7:5 31 4fS 105 790 44w §, 9t dra™ § afgan
YTP B BT AT B2

1.95

2. 65

3.75

4.85

Correct Answer :-

11) In a certain code, TOLD is written as 5132 and DEAR is written as 2648. How is LATE written in that code? /

% fAf¥d Fe §, TOLD $Y 5132 F T H forar 741 8 3R DEAR 1 2648 & &4 H forar a1 81 SH HIS A
LATE &1 &9 fer@ar smemm?

1. 3871
2.3456
3.3652

4. 6853

Correct Answer :-

» 3456

12) In an election between two candidates, 75% of the voters cast their votes, out of which 2% of the voters were
declared invalid. A candidate got 18522 votes which were 75% of the total valid votes. Find the total number of
votes enrolled in the election? /

3l Suftear) & dta gara A, 75% Tdg@rs A 3uA die 3T, R | 2% Aaerarsi B sray giftd &2 faa
gl % Sufigar @) 18522 die A &t Fa du diet A A 75% A1 TG | AWifed diel &) Fa J=n gid

1. 33200

2.33600
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3. 33400

4. 33800

Correct Answer :-

» 33600

13) CANCELLED

In the given question a group of letters is to be coded by number/symbol codes as per the codes
gives below and the condition that follows.
In the question, a group of letters is given followed by groups of number/svmbol code numbered

(a). (b). (c) and (d).
Letter P D JA |F T I M TR K 1T 5 TE T

Code 3 6 # 2 5 4 2 7 @ |9 5 1 %

oy

Condition: If the first letter is a vowel and the last letter is a consonant, both are to be coded as 0.

What is code for EDRTMP*? /

w71 wad # R G aw &5 iR TR & S ad & 39eR 3R & U
THg $ HEA9dIS F15 ga@nT Hifsd Har A= £

wesT A, (a). (b). (¢) 3R (d) E@RT YRAT TEGdS FI5 H NERT F THg & A

fecr @ g1
sac |P |D |[A [F |[L [H [M[R [K |[T [B |[E |U

F= 3 6 # 8 3 4 2 7 @ |9 2] 1 Yo

‘EDRTMP & T &is @r 87

1. 167932
2. 169721
3. 067920

4. 067923

Correct Answer :-

« 067920

14) Iftheposition of the 1t digit and the 3 digit in each of the numbers is interchanged, then which
of the following will be the lowest number after the rearrangement?

518, 725, 849, 387, 634 /
IfE ude dwr & gger 3w i ey 3w i Rl srow F gco & S &.ar 5|

eicdaedl & dig fes=ifaf@d # & $ia eaan qear g
518,725, 849, 387, 634

1. 634

2.387

3.518

4,725

Correct Answer :-
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Topic:- General Science

1) A boy receives his echo in 6 seconds. Find the distance of the reflecting surface from the boy. (The speed of sound
in air =342m/s) /

w?{%ﬁmmwﬁsmﬁﬁ?éﬁ%lmﬁwﬁqgaﬁgﬂmaﬂml @@ ¥ @y Ftaa
=342

1.28.5m/28.5Hl
2.1026 m / 1026 |
3.67m/ 674
4.2052 m /2052 |t

Correct Answer :-

. 1026 m/ 1026 |

2) At the top of the mountain, cooking of food takes a lot of time because: /

Tdd & RIER R, WieH IHH § $T6! T07Y 1 &, Filfd:

1. Pressure is more at the top of the mountain /W%WWW Wm%l

2. Boiling point of water is more at the top of the mountain / Tdd & RRER WR U} &1 HYATH maﬁ%l
3. Boiling point of water is less at the top of the mountain /W%WWU’F‘?W@WW@W%I

4. Melting point of water is less at the top of the mountain /W%WW@WWW@W%I

Correct Answer :-

« Boiling point of water is less at the top of the mountain / Tdd & FRRR u?m:ﬁmwzﬁ'wmsﬁ%l

3) Why is it important that the seeds get dispersed? /

it 31 forae- e g Aoyl = gar 32

1. All the seeds will germinate /gt S H@ﬁﬁfﬂﬁl

2. Germinate fast / ot o H@ﬁﬁ@?ﬂ%l

3. Prevents overcrowding around the parent plant / Wtﬁ‘a$?ﬂ?§f 3R mSWﬁW%I
4, Seeds get damaged / ST &mfﬁm%l

Correct Answer :-

« Prevents overcrowding around the parent plant / ﬂj‘[&[ﬁ%ﬂﬁ 3R %Wﬁm%l

4) Identify the charge on the cation in the salt aluminium phosphate. /
AU THHH Bihe | YFTa- U A% $t Ugd $1 |
1.4+3

2.+1
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3.+2
4.0

Correct Answer :-

o+3

5) Which of the following methods is most widely used in the determination of age of organic matter in the
archaeology field? /

RTad &7 § Frafe uerd #t 39 & Myl & fFrafafaa § @ o1 @ f3ft &1 smue wu S Suar fean
STaT 82

1. Neutron activation analysis /%Wﬁ&ﬁw
2. Tracer technique / EWT‘IW

3. Radio therapy / 37&dT 24t

4. Radiocarbon dating /%%uﬁwé?%%ﬂ

Correct Answer :-

« Radiocarbon dating /m?ﬂ@f:f Sfe

6) Which property helps in the separation of a homogeneous mixture into its constituents? /
DI T 0T Th AT fH01 Bt 3P U] H T H- 6 Age HRdl 82

1. Physical properties / ifas or

2. Smell of the constituents substances / T€® UG I 1Y

3. The colour of the constituents / W % RLl|

4. Chemical properties / IR C o1

Correct Answer :-

« Physical properties / %‘IUT

7) Identify the organism that does not belong to Kingdom Monera. /

39 of19 & Ugan=Y oY HIART o & At g @1
1. Mycoplasma / ATS® IGITSHT

2. Anabaena / TATEIAT

3. Yeast / URC

4. Rhizobium / TZSHSTH

Correct Answer :-

o Yeast / Oe

8) Which of the following statements is INCORRECT regarding cell? /

FIRTPT & Fay # Fuferfad § § Tad $Y= ot ugaE sifee?
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1. Robert Hooke explained that new cells arise from pre existing cells. /
Riec geb = GHIAI fob 75 bIRIBTY Jd HIGET BIRIBI3H & S= Blelt ¢ |
2. Robert Brown discovered the cell nucleus. /
RIE SIS A DIRABT Doeh B @I B |
3. Schleiden and Schwann proposed the cell theory. /
YAES 3R Y 3 BT Rigid &1 vRama faa|
4. Leeuwenhoek first saw and described a live cell. /

TARI® 3 YW UGS ol HIRABT B 7T 3R IHPT faaor fawan|

Correct Answer :-

+ Robert Hooke explained that new cells arise from pre existing cells. /

T g 3 THEAT b 7S BIRBIY gd el HIR®13HT F IO gt 8

9) Which of the following is a dead tissue in a plant body? /
e N9 & IR A i@ & § #4991 9d SHas 82
1. Collenchyma / SIC-HTZHT (Wuﬂw)

2. Chlorenchyma / WT

3. Parenchyma / am (Hgd®)

4. Sclrenchyma / TRIADISHT (TG HdAD)

Correct Answer :-

« Sclrenchyma / YRRAPIGHI (€@ HdD)

10) Sonia swam in a pool. She covered 100 m in 2 minutes by swimming from one end to the
other and returned to the starting point along the same path taking the same time. The average
speed of her is .

T T gat & aRT! el 31 98 TP B A gk SR b v 2 e § 100 Hew @1 a2t 8 siR Iaq &
I o G Uy gRIIRAS g R ae ardi € | Sust sigaara . @1

1.50 m/s / 50 Hi/&A
2.0.83 m/s / 0.83 HiIA
3.0.083 m/s / 0.083 H/A
4.200 m/s / 200 HI/A

Correct Answer :-

. 0.83 m/s/0.83 WA

11) Arice bag is weighed at a place near the equator and the same is taken to Antarctica. The
weight of the bag will be .

TS I1ad & S BT YA 3@ P U TP T8 UR Ioi fHaT 1T ¢ 3R 39 sieTdhfedt A & Srar sar 81 97
BT ae el
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1. more at Antarctica / 3{eTd e H S

2. same at both the places / S o8l IR IHH
3. less at Antarctica / 3feTh et H HH

4. zero at Antarctica / 3feTehic T | I

Correct Answer :-

. more at Antarctica / 3icThicdhT H 3ifddh

12) A piece of paper is placed below a heavy book. When the paper is pulled fast, the book will

not move with the paper due to the ./
DI BT TP P ST, R TP P -0 IWT T 8 | 51 SIS DI doit & Wi A1 §, 8 [P ST & 1Y
& HRUT L] T |

1. higher momentum of the book / WWWW

2. inertia of motion of the paper / Wﬁﬂﬁfﬁm
3. inertia of direction of the book / W?ﬁfﬁ‘\’ﬂﬁm
4. inertia of rest of the book / T&i% ! faRTH &1 STed

Correct Answer :-

. inertia of rest of the book / G&i® 1 faRTH &1 g«

13) Which of the following statements is INCORRECT about antibiotics? /
fFrafafaa # @ F19 91 Fy= tdarifesy & aR # Tad 82
1. They are very effective against viral infections. / 9 IR YhHUT B R dgd UHTAT Eﬁ?f %I

2. Antibiotics are obtained from living organisms that kill or stop the growth of other microorganisms. / Q?ﬂﬁ?ﬂﬁ?,

SHfad Sitdl ¥ UTG B1d § S 31 JgHoid! & fae i Bled T Adhd gl
3. They prevent the bacteria from making cell walls. / 3 ST ot BT iRy 999 T Jbd %I

4. They block biochemical pathways which are important for bacteria. / J SIg IS AT P 3aSg HR od © o
Jifan & o Aeayyl g 7

Correct Answer :-

 They are very effective against viral infections. / d IRRT HHHU b f&bc& qdgd THTAT aﬁ%I

14) The boiling points of diethvl ether, benzene and dimethvl ether are 34.6°C, 80.1°C and -24°C
respectively. Which one of the following correctly represents their boiling points in Kelvin scale

respectively? /
SESURA S, dolie 3R SEAUET sR & sau=is: FH: 34.6°C, 80.1°C 3 -24°C
t1 rfaf@a & & =la waw Feas daer 7 3o Fausar sragr & & aafar

&2
1.2384K,1929K, 249 K
2.2384K,1929K,297K

3.307.6 K, 353.1 K,297K
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4.307.6 K, 353.1 K, 249K

Correct Answer :-

« 307.6K,353.1K,249K

Topic:- General Computer

1) Which Kkey is used to delete a character to its left side of the cursor in MS Word 2010? /

THTY T8 2010 H, HIR & 1€ TRE TP Haex ) {Sefle H1 & fore i Foit (@) &1 3T favar sian 32
1. Backspace button / IHWUY g

2. Esc button / Esc §c

3. Delete button / fSTiie §ed

4. End button / TS dc+

Correct Answer :-

» Backspace button / BT g

2) How many “workbook views” are available in MS Excel 2007? /
THTH TRIT 2007 B o= "ahge o Iuas 82

1.4

2.3

3.6

4.5

Correct Answer :-

3) How many types of ‘Section Break’ are there in MS Word 2010? /
THEY 98 2010 § fpaq TR & AW 35 &2

1.4

2.3

3.6

4.5

Correct Answer :-

o« 4

4) “MAN?” stands for: /

"HUEA" &1 QUi U &:

1. Maximum Area Network / pa| Casparaf Qﬁ’cﬂ ERGEY

2. Metropolitan Area Network / ﬁ@qﬁﬁm W
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3. Minimum Area Network / EEgite Qﬁtﬂw
4. Main Area Network / e Qﬁ'cﬂ ELGET

Correct Answer :-

« Metropolitan Area Network / ﬁ@'q}ﬁ%ﬁ':f i Aeas

5) Where are data and programme stored when the processor uses them? /

ST 3R T Hgi WAfed Ehd & oTd 37T STTNT WA & GIRT fobar STt 32
1. Secondary memory / Hh 81 HART

2. Programme memory / 9T9TH HHIRYT

3. Main memory / - HHR]

4. Disk memory / f&% AHRY

Correct Answer :-

« Main memory / AT ER

6) What is the keyboard shortcut (button or buttons to be pressed) for creating a chart from the selected cells in
MS Excel 2007? /

@Q‘;@ﬁﬁ2007ﬁ,wﬁaﬁwﬁwaﬁmﬁ%ﬁmaﬂ-ﬁém(ﬁmmmaﬁaﬁﬁm)
T 8?

1. F3
2.F11
3.F7

4. F5

Correct Answer :-

« Fl1

7) Which of the following is the extension for a macro enabled Excel 2010 template file? /
AT W& TR 2010 SHAE WIgd & forg Fufafed § @ o149 w1 geadT 32

1. xltm

2. xltx

3. xlsx

4, xlsm

Correct Answer :-

e xItm

8) Which is the minimum zoom level percentage in MS Word 2010? /

THTY T3 2010 T gAqH FH FR fa=rd SI9 91 8?
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1. 15%

2.20%

3. 10%

4. 5%

Correct Answer :-

« 10%

9) Which among the following is not an edition of MS Word? /
Frafafaa # @ $19 91 TaTy 98 &1 TP IXHI01 781 82

1. MS Word 2010 / THTY TS 2010

2. MS Word 2016/ THTH T8 2016

3. MS Word 2007 / THTH TS 2007

4. MS Word 1900 / THTH T3 1900

Correct Answer :-

« MS Word 1900 / THTH I8 1900

10) The action Ctrl+O performs operation in the MS-Word 2007. /
THUH T8 2007 §, TR Ctrl+0 FTd B PTG |

1. Open / 3=

2. Print / flie

3. Close / &Sl

4. Redo /ﬂ_ﬁ

Correct Answer :-

. Open/3h'q7‘f

11) In MS Excel 2010, shortcut key to “Go To” dialogue box is: /
THUH T 2010 H, "7 g STAQNT 9ied & g wiidde oft &:
1. Ctrl+T

2. Cul+G

3. Alt+T

4. Alt+G

Correct Answer :-

o Ctrl+G

GET IT ON

Google Play

12) In MS Excel 2010, which of the following shortcut key to reverse the last command or to delete the last entry

that you typed? /
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TUCH TR 2010 H, 3ifad wHis 1 vad $34 a1 3TUd §RT 18U ot 73 3ifad T & ger & ferg
fFrafaf@a aidee Fon A A H A B2

1. Ctrl+Y
2. Ctrl+X
3. Ctrl+Z
4, Ctrl+W

Correct Answer :-

o Ctrl+Z

13) In MS-Word 2007, what is the function of Window/Orphan control? /

THUH-TS 2007 H, fISy/3iTth=1 frior o1 &1 Fa1 32

1. It will allow you to keep your paragraphs together. / g 3T TREH THATY TG Bt \3137:[% gl

2. It will allow you to form a sentence. / g AU Tdh IR M Bl Hﬁﬂlﬁf a_dT %I

3. It will not allow you to keep your paragraphs together. / g 3D TR THHTY TT B @ITZIﬁ Tei sl
4, It will not allow you to form a sentence. / g 3T U dIdg I B Hﬂ’qﬁl qﬁa_&ﬂ %I

Correct Answer :-

« It will allow you to keep your paragraphs together. / g 3] TR Uh Y TG P GHTI'% < %I

14) CANCELLED

What is the shortcut key for "Find and Replace' dialog box in MS word? /
TR 38 ¥ "wIs R R S/ aie & g o149 W Aicwe 3182
1. Cul+H

2. Ctrl + Shift + F

3.Ctrl + F

4, Ctrl + R

Correct Answer :-

e Ctrl +F

Topic:- Civil Engineering

1) If the line of action of all the forces in a plane is passing through a single point, then it represents a: /
gfe T Tuaa § it aat  fivar Y1 ved fig A giex Tordd 8, at ag qxifdt 2:

1. Collinear force system / Il 99 Yot

2. Parallel force system / JHIAR g P IK]]

3. General force system / HTHT] d¢f JorTert

4, Concurrent force system / I &t Yot
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Correct Answer :-

« Concurrent force system / SHIEICREI]]

2) In the direct method of contouring, the process of locating or identifying points lying on a contour is called
-/

mw;mmﬁmﬁmmﬁmﬁ,mwmﬁgaﬁaﬁgﬁmmaﬁmﬁ
CaIRIGL]

1. centering / HAGH

2. vertical control / Wﬁ [BREL
3. ranging / W

4. horizontal control / &fasT fg=ToT

Correct Answer :-

» vertical control / A [BPELI

3) On Indian Railways, the standard length of rails in a Broad Gauge trackis___ ./
HRAIYGI S A e A P AFd dars 21

1. 11.98m / 11.98 HIcX

2.12.8m / 12.8 HIcR

3.10.97m / 10.97 HicR

4.10.06m / 10.06 HIX

Correct Answer :-

e 12.8m/12.8 dieR

4) In tack coat, bitumen is used at the rate of ./
TP Wd @@ ®le) ¥, fagh= W R Ugad far S 2|

5 o fnl
1 Skgm

N 0.5 kg/m?

3. lkg/m-

10 kg/m?
4. 3

Correct Answer :-

0.5 kg/m?

5) Name the pipe which is provided in septic tank for discharge of foul gases. /

Y UTgY BT A1 FaT¢ fOrIeT SUART AfY® ¢ A giivergad 141 & s & forg fosar s 81
1. Anti-siphonage pipe / TRy gy

2. Outlet pipe / 3M3cac gy
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3. Vent pipe / de sy
4. Man hole / B Eﬁa

Correct Answer :-

« Vent pipe / deugy

6) Diagonal bond is a pattern of bond in: /
ST §1vS 9 9IS 31 & Ufaeus:
1. English bond / STI=I S8

2. Flemish bond / TRITHRT §18

3. Dutch bond / $9 §IS

4. Raking bond / RG]

Correct Answer :-

« Raking bond / NERIKIES)

7) Find the delta for a crop when its duty is 432 hectares/cumec on the field, if the base of the crop is 150 days. /
TS BUd P T SeeT 719 B, Forast &7 uR St 432 TRIVFAD 7, IS BHd &7 YR 150 fET 81

1. 150 cm / 150 Tt

2.200 cm /200 HHT

3.300 cm / 300 GHI

4,432 cm / 432 9H

Correct Answer :-

« 300 cm /300 TH

8) A short tube of length not more than two or three times its diameter, which is fitted to a circular opening in a
tank is known as v

TS DI ogd forgs! dars 39 oIy A 31 a1 9 1A | iR 7 81 3k o top 8 & gl R g R
fee s, wgardi @l

1. orifice / eIl
2. mouth piece / H@’Cﬂ

3. weir / Si¢Y

4. notch / A

Correct Answer :-

« mouth piece / H@W

9) Putty is made up of: /

LHEREER RN
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1. Powered chalk and raw linseed oil / G198 didh Qa 3T BT Dol ad

2. Red lead and linseed oil / TTA &S Td 3Tt BT dd

3. Zinc oxide and boiled linseed oil / TSI TAATZS T 3feRi &1 Il g3 dd
4, White lead and turpentine / e a8 Td dRUH

Correct Answer :-

« Powered chalk and raw linseed oil / TS Tl T St BT H=m ad

10) Moment of inertia of a circular section of radius ‘R’ about its diametrical axis is: /
T URUT T forasd ity &t = s R’ 7, 3@ Ss@ Syt ghm:

TR*

1. 64

TR*

2. 32

4, B

11) Empirical relationship between tensile strength and compressive strength of concrete is given by: /
Fepic B a9 mA ayr Tltes ImAd & aw SgUae=g I e & g1 e fg o §:
1. Tensile strength = 0.47*fck / d-- e =0.47*fck

2. fck = 0.47*tensile strength / fck=0.47*d- e

3, Tensile strength = k(compressive strength)® | T AHe = k(TdsH THTFI'E‘#}“

K= compressive strength / HTﬁEEF Wﬁ

4. tensile strengthsfck Tl LA «fck

Correct Answer :-
. Tensile strength = k(compressive strength)® [ daldl ALY = k(FdsH i‘:l'l'rFTE-?‘j‘}“

12) ISLC stands for: /

STSTITAA (ISLC) BT uf =9 fA 2:

1. Indian Standard Lower Weight Channel / E%TI:T XIS AR I I
2. Indian Standard Lower Channel / E%TFT LSS AR I

3. Indian Standard Light Channel / _Q'ﬁ';fq'_‘f Tes NIEE EE|

4, Indian Standard Lightweight Channel / 3'%?1:[ Tes Fﬂsﬁ? EE|
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Correct Answer :-

o Indian Standard Lightweight Channel / Eﬁ'{q:f e Fﬂgfa? I

13) is defined as load per unit area. /

_ ®iufa T &F%d YR & wu § ufvyiid fear s 31
1. Strain / <A

2. Rigidity / €gdl

3. Stress / d-Id

4. Pressure / QI§

Correct Answer :-

o Stress / ddld

14) Bernoulli’s theorem deals with the law of conservation of ./

TR 1 Rt & W& $ o | HaRa 31
1. energy / SHoll

2. discharge / IRESSRL|

3. pressure / QI9

4. mass / gUHIT

Correct Answer :-

o energy / Sl

15) According to general thumb rule, the height of the door will be i
AT PR, e A FOE @R

1. width + 0.25 m / TSTS + 0.25 H

2. width +2.25 m / AISTS + 2.25 Y

3. width + 1 m / ST + 1 7Y

4. width + 1.25 m / ASTS + 1.25 |l

Correct Answer :-

. width+ 1 m /TS + 1

16) According to Kuichling formula, if P is the population of a place in thousands, then the fire demand of water
in liters per minute is given by: /

SEARNT G & TR, TS p U T A IR B SATETE) ) efiex vl firre & oier 9 iR f3wis 59

563
1 6363p

, 4640Vp


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

3182+
3, P

4, 5663p

Correct Answer :-

17) Sudden and turbulent passage of water from a super critical state to subcritical state is known as
/

f Hifds ATV IUHITAD JARIT ITAT ST BT MTHUD T fI&fSs FhHT Feardr gl
1. hydraulic gradient / ERIZECUG]]

2. hydraulic jump / Sd1g s

3. hydraulic mean radius / ey A1 A

4. hydraulic depth / STelTg 8T8

Correct Answer :-

« hydraulic jump / §d1T S

18) Newton’s law of viscosity states that: /

e T G BT a9 ifisfia svar § :

1. Shear stress is directly proportional to the shear strain /
SR et , SRV Tl b SgghATgaIH el 6

2. Shear stress is directly proportional to the viscosity /
YU YIS , TN & AU Sidl 3|

3. Shear stress is directly proportional to the velocity /
SO0 Ui , 371 % SIHATI Sl 31

4. Shear stress is directly proportional to the velocity gradient /
U= IS, AT UaurdT (daiic! 4fee) & SrgshHrgurd gl g |

Correct Answer :-

o Shear stress is directly proportional to the velocity gradient /

3UYUT st , 377 YquId (@aiRie! 3fSe) & ST gt 8|

19) In optical square, the two siwered and unsiwered glass is fixed making an angle of to each other. /
YR o #, gt fas aur $FRes e e gav | BT R W1 fpg 91 1

1. 9

2 45
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4.

Correct Answer :-

20) When a dam has to be constructed in a narrow ‘V’ shaped valley, which of the following types of dam is
suitable according to its topography? /.

Wq IS g9 W1t v’ TpR arelt urdt A fAftfa fpar wirar 8, 99 39! warefa & fore fFfafaa d @
5T YR $T a1y U g 82

1. Barrage / aRTol

2. Arch dam/ ﬁm qiY

3. Earth fill dam / 312 fOhai SH
4. Overflow dam / 3{fAVATE &Y

Correct Answer :-

e Arch dam/ ﬁm qiY

21) Contour lines cross valley line at ./

TNF @I IR WRUR B gl

4.

22) A test used to measure the strength of waste water is called ./

SUTRAY ST B &FaT D1 AT F I waiT fovam s arer w g ror FEAAI g
1. pH / GITH

2. BOD / dl3fiel

3. Surface setting rate / I8 THRS &

4. Detention period / 3ARIY 3rafe

Correct Answer :-

. BOD / d3fiSt

N
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?mﬁ%ﬁaﬁmwm%%Emﬁm,ﬁww%ﬁqwmﬁaﬂ!ﬂwﬁwﬁw
L I

1. 15%
2. 10%
3.25%
4. 5%

Correct Answer :-

« 10%

24) What is Distemper? /

SRR TR

1. A drying agent. /WWWW @?TQ@?)

2. A paint consisting of powdered chalk, pigments and water. / o1 Ue fored fusdt E‘s‘ Tlep, TGed qYT Sfd gidl gl
3. A paint consisting of coloured cement and water. / Q’HT te forgd T dide qur ora Eﬁ?ﬂ % |

4. A water proofing agent. / b SI¢] AN HRP |

Correct Answer :-

A paint consisting of powdered chalk, pigments and water. / QFT Ue forgs fosdt Eé ?ﬂ?, TGS qYT oI d gidl % I

25) What is the SI unit of viscosity? /
TUTAT $I S SHTS T 82

;. Both Nsm’and P,s / st’szﬂTPEs At
5 Fus only / &hddl P,s
3. kN/m

4. Nsm? only/ thael Ns/m?

Correct Answer :-

. Both Nsm?and P,s / Nsm?3iR P s &=

26) What is the reciprocal of compressibility? /
Tftsadr &1 gopd w1 82

1. Modulus of elasticity / TR T AT

2. Pressure / QI§

3. Volumetric strain / GiﬂIIT‘:ﬁ GRIE]

4. Bulk modulus of elasticity / 3T AT HIYTH

Correct Answer :-

« Bulk modulus of elasticity / 3T YT HIUIDH
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27) What is the condition for maximum discharge through a circular channel section using Manning’s formula? /
AT Bl & UGN gRT U@ i ad uvsde & A1ed 9 iftepan frag (swarsh) & forg war fRufa 32
1. 0.938D

2.0.105R

3.0.5D

4. 0.093R

Correct Answer :-

« 0.938D

28) Overturning of vehicles on a curve can be avoided by using )
& IUGNT GRT TS I3 W 161 D Ueie § q9141 9Hai gl

1. compound curve / TG ﬁl’s’

2. reverse curve / SohH lﬂ"s’

3. vertical curve / F@leR Ihg

4. transition curve / URITHT Ih_S'

Correct Answer :-

« transition curve / URITHT ﬁl’s’

29) For Western Ghats, the relation between runoff ‘R’ and rainfall ‘P’ (both in cm), given by Inglis and De Souza
formula is: /

ufgrft uda Afora & forg, S ofk Shgem T faT 71T I & SrgaR I3HT®, 'R U6 XGRS, P (@1 At
ﬁ)%mwﬁawtr%

1.R=ksP
2.R=kb P

3.R=0.85P -30.5

R=—

4. 254

P (P-17.8)

Correct Answer :-

+ R=0.85P-30.5

30) For structural purpose, the minimum grade of concrete as per the code is: /
AT SeRa ¥ g, W1 & AR Hwie B e I A ?;

1. M40

2. M20

3. M60

4. M15

Correct Answer :-
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31) Why is gypsum added at the time of grinding cement? /

e ot usfEn & any foreaw i framan s 82

1. To increase durability / ReRa | dx FHD ﬁ'm

2. To increase plasticity / 1Rl o Q@ & fere

3. To impart resistance to chemical attack / S HHOT A §9H & ﬁﬂ'{
4. To prevent flash setting / TS AT A NIy

Correct Answer :-

« To prevent flash setting / T AfET AP B fog

32) As per 1S456-2000, a longitudinal steel reinforcement for column shall not be less than of the gross
cross-sectional area of the column. /

18456-2000 ¥ TIR, HIaH & 1T T gt ST GEeHvT, TWH & Jhd UR-FHRTT 84 & q
Y T8I g

1. 0.8%
2.0.2%
3.0.45%
4.0.15%

Correct Answer :-

« 0.8%

33) As per IS456-2000, the basic value for span to depth ratio for cantilever beam up to 10m is ./

18456-2000 ¥ AR, 10 H. 76 B Fehar f7 & AISTE T Mg & Aqud T ARUF A gar gl
1.26
2.7
3.17

4.20

Correct Answer :-

34) As per Bye Law in accordance with Indian electricity rules, the minimum horizontal clearance between the

building and the electric supply line for high voltage line up to 11 kV is .

g @1 3R HR fagga fawl & 3gaR, T fAfRET iR 11 kv % = dlecar arg & fore faggq smyfe
AT e e ®

1.2m /2 Ht

2.12m/12#
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3.2.5m /2.5
4.3.7m/3.7 90

Correct Answer :-

. 12m/ 127
35) Evaluate the tensile strength of concrete of grade M40. /
US M40 & Hepic Bl a9 &HaT BT Tedidd B |

1 4 42 N/mm?

2 4 70 N/mm?

3 4.14 N/mm?

4.95 N/mm?
4,

Correct Answer :-

4 42 N/mm?

36) If the sum of the percentage amount of coarse aggregate retained is 694.5, then calculate the fineness modulus
of coarse aggregate. /

;ﬁmﬁa%m&wm@ﬁﬁmﬂﬂaﬁmwmmwms%ﬁmﬁwmﬁwm
TMOAET B |

1. 70.86
2.69.45
3.0.6945
4. 6.945

Correct Answer :-

« 6.945

37) One sq. foot in sq. meter is: /
waiped faaf iR e:
1.0.083 sqm

2.0.073 sqm

3.0.103 sq m

4.0.093 sqm

Correct Answer :-

» 0.093 sqm

38) Which of the following causes eutrophication of water bodies? /
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o Tl & guivor 1 fAfafed § 9 i R g?

1. Discharge of toxic substances / fava qa%ﬁm ﬁa%:f

2. Excessive discharge of nutrients / US| BT AT ﬁa“s’q

3. Excessive discharge of chlorides / a%ﬁm P 3™ ﬁ?i%:r
4. Excessive turbidity / 3= Sffderdr

Correct Answer :-

 Excessive discharge of nutrients / UYH| BT AT ﬁa%:[

39) Which of the following is NOT a property of aluminium? /
frfafaa & 3 o vegiifag &1 ue et a6t 32

1. It is a good conductor of heat. / dg HTHI b Iclh %I

2. Tt is ductile. / T8 TRI g |

3. It is a bad conductor of electricity. / Ug ﬁ“q:qa CAKaCINEA gl

4. It is a soft metal. / g Udh -IRH %ﬂﬁ%I

Correct Answer :-

« Itis a bad conductor of electricity. / Ug ﬁ?{]ﬁ hI Pl gl

40) Which of the following types of rail section has better rigidity and stiffness to resist lateral and vertical forces?
/

fa 7R & Ya Ts | urg SR daad gal &1 UfeRiY H F 1T dgav Tear R oRar gt 32
1. Flat footed rail / IUC STYR dTel

2. Butt headed rail / a1 S arat

3. Bull headed rail / a1 T @t

4. Double headed rail / GIg¥ ]ITY aTct

Correct Answer :-

« Flat footed rail / IUC 3MYR aTA

41) Which one of the following tests is preferred in laboratory to determine the extent of weathering of aggregate
for road works? /

gw@aﬂwm&m;ﬁmﬁuﬁamﬁ%ﬁmmﬁmﬁﬁmﬁwaﬁm
T §?

1. Soundness test / g dl PR
2. Crushing test / aaiT URI&T0T
3. Impact test / UHIT qﬁ&‘l'UT

4. Abrasion test / gyor TRiefur

Correct Answer :-

» Soundness test / €gd PR
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42) Which one of the following statements is INCORRECT about gravity conduit? /
TRyl Tt & W & e §f F &9 a1 vy SR 82

1. Gravity conduit can be laid as desired by the existing topography of the area. /

TEATHYUT et &3 & HISGT RIATHId & R difed =0 I IAT o Fhell |
2. Flumes are a type of gravity conduit. /
HFARIBTE TP YHR B! THATHYUT -Telt gt & |
3. In gravity conduit, water will flow under atmospheric pressure. /
THEHYY TFefl H, STl agHUS ald b Sicid yared gidi g |
4. In gravity conduit, hydraulic gradient line will coincide with the water surface. /
TEATHYUT et B, STeld Yqurdr 61 5Id 9de & T gl |
Correct Answer :-

« Gravity conduit can be laid as desired by the existing topography of the area. /

TEATHYU et & & HISaT VTR & gRT IfDd =0 J 34T S Fhel! |

43) Which one of the following is NOT a type of shallow foundation? /
=T & & or aad) i @ FrEIF) HT IS0 TE B2
1. Drilled pier / ffed dedy

2. Mat foundation / S Yde arett Hia

3. Continuous footing / 3HGUS ia

4, Combined footing / IGIECKIC]

Correct Answer :-

« Drilled pier / f&5T&d deay

44) Which one of the following is NOT a factor responsible for sewer corrosion? /
Frafafad & 9§ 19 War &R F (Y SR oRS 751 82

1. Low velocity of sewage flow / S yarg &1 7Y T

2. Good ventilation / 35T a1g AR

3. High sewage temperature / HIaS &1 3 dIaH

4. High BOD / 3 1 3f1at

Correct Answer :-

« Good ventilation / 33T d1g TR

45) The average daily draft/demand of city whose average water consumption is 250 Ipcd and population is
1,20,000 would be .
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WWﬂgaﬁ'\qﬁ%ﬁE@WMﬁT g, Rt 3ird sTe SUTHRT HINT 250 Iped @ 3R SIS
1,20,000 g1

1.25 MLD
2. 120 MLD
3.250 MLD
4.30 MLD

Correct Answer :-

« 30 MLD

46) The condition of the land where the water table is at or near the ground level and becomes detrimental to the

plant life is called as .
Yfty 7} 9 fRuf w181 oTar W a1 Y Wiftre TR W a1 39 e giar @ 8k urey shia & e gifere® a9
ST, HgaTar gl

1. super saturation / 3fd R
2. water logging / STd {19

3. flooding / dlg

4, seepage flood / g ot dle

Correct Answer :-

« water logging / SI¢T HRTd

47) The shape of ‘Give Way’ sign in the traffic signal is: /
ATATAT Hebd § T &' & Hebd BT ST 7+ Bl o:
1. Rectangle / HTdd

2. Octagonal / 3{SCHY

3. Circle / 9

4. Inverted triangle / 3¢<l ﬁﬁﬁf

Correct Answer :-

« Inverted triangle / 3¢C ﬁH\_ﬂ

48) The instrument used to set out a right angle to the chain line is called as .

AT I (A7 ATE) A FABIU 911 & 1T g 811 ardt T Y FeIEaI gl
1. piaster lath / FUORER Y

2. plumb bob / WE 1

3. line ranger / GIERESHN

4. cross staff / 1Y €IH

Correct Answer :-

« cross staff/ 19 WIhH
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49) The instrument used for the measurement of wind speed is: /
q1g ATel & A9 & T ugerd fhar S arer SuH v @

1. Atmometer / Q?;n'ma

2. Odometer / SR

3. Anemometer / Q:“l:ilﬂ X
4. Rotameter /?- cTHIeY

Correct Answer :-

« Anemometer / Qﬁ?ﬂa

50) The structure which has an assembly of rigid but elastic members joined in the form of triangles to act as
beam is called as ./

ﬁmﬁﬁm%mﬁmmﬁ%mﬁwmﬁ@wﬁmmama‘fmvﬁssﬁm%,
Pedldlizl

1. stanchion / GHT (@7'-‘2171)
2. column / ¥dH @TT’ITD
3. crown / ¥TY (h137)

4. truss / TTGT (¢¥H)
Correct Answer :-

« truss /TIST (¢¥)

51) The unit of rolled steel sections as I-beam, channel and angle used for general construction works in metric
system is taken as .

Hite Reew ¥ v fFmfor st & forg ywga 81 ara Afcra swura wR=del 9 i -8, 39« aur oma
BITPE_ B

1. length in mm, section in mm / firefieeR ff ?‘iﬁl’i‘, forcfidtex ff W
2. length in m, section in mm / e | r«iaTé, firefidiier & R

3. length in cm, section in mm / e o Fia'l_sc, firciTier ¥ uResg
4. length in cm, section in cm / e o Fiﬁﬂé, e o tlﬁ%_qr

Correct Answer :-

« length in m, section in mm / tfiex o dars, ficfitier o ufeeg

52) The Simpson’s rule for determination of areas is used when the number of offsets are: /

&t & fFruiRor & forg R &1 foraw @@ SwaiT f3a 5irar 3, o4 SiTede 31 6 gt &:
1.2

2.even /9H

3.3
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4. odd / fauH

Correct Answer :-

« odd/fauHq

53) The critical hydraulic gradient observed for sand boiling condition is given by: /

Y arafer srawat & fore sraaifed frfewa sgsiftre AfSte A= & gRT e foran SiTaT 2:

. G+1
lc=
4, 1+e

Correct Answer :-

i_G—l
. T igia

54) The dowel bars used in a R.C.C. footing is an example of: /

et fia & sxauTe fg o ardt STaw e frwet T Jarevr 3:
1. Plastic hinge / e fg=af

2. Development bond / SaquHc die

3. Redistribution of moment / \’rﬂ'@f HIY: IEGRUY

4. Anchorage bond / W ElUT%

Correct Answer :-

» Development bond / SdTHC dIvS

55) The term ‘SOFFIT’ used in the stairs is: /
Hifeat # seawre Wfthewres fras fog ywgea giar e:
1. Top surface of stairs / ‘vﬂ'm P HUI qdg

2. Outer projection of a tread / b ddl & a%ﬁ?[ HIT

3. Side surface of stairs / ‘Gﬁ%’tﬁ & fHIRI P Ydg

4. Under surface of stairs / ?ﬁ%th CARGENI Ydeg

Correct Answer :-

o Under surface of stairs / th%th CANEELN] Yqde
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ddt Aferal ° Sett Hf g 81 &1 HRUT §:
1. Sudden enlargement / 3THTHD JfS

2. Sudden contraction / 3HRTH w

3. Length of pipe / 7Telt &1 daTs

4. Friction in pipe / -Tcit H GOT

Correct Answer :-

o Friction in pipe / Teft 7 gefor

57) The line where the velocity potential is constant is called as i
T Y@, wigi A fug RR g e, FEAT S|

1. equipotential line / JafaHg war

2. flow line / UaTg T (Q?ﬁa'lg:l)

3. velocity gradient / CURCIUGI]

4. steam line / ATY-5d-dh (L0 A1Z)

Correct Answer :-

« equipotential line / JafaHg T

58) The difference of Qact and Qth in a reciprocating pump is called ./
TP UATTH GO H Qact MR Qth F R B _ Pgd gl

1. Efficiency / q&dl

2. Loss of energy / Soll Bl g1

3. Discharge / ﬁé@q

4. Slip / a4

Correct Answer :-

. Slip /&g

59) The line which gives the sum of pressure head, datum head and kinetic head of a flowing fluid in a pipe is
called as a line. /

98 ¥@1 Sl Ue TS # UdTied 819 aTd a¥dl 31 UTR 88, S¢H 88 dUl PISAied g8 P1 AN USH Hd1 g,
@ pgara gl

1. hydraulic gradient / ERIEECUG]]
2. discharge gradient / 3THTId YUl
3. velocity gradient / CURCIUGI]

4. total energy / Pl ol

Correct Answer :-

« total energy / ol Sl
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60) The recommended diameter of domestic sewer pipe laid at a gradient 1 in 100 shall be ./
100 H 1 BT UR IW U TS YATE UTSY BT SRIRIa oI BRI

1. 100

2.175

3.150

4. 125

Correct Answer :-

« 150

61) The approximate cost of a building of cubic content of 350 Cum at Rs. 250 per Cum is: /

250/- ¥4 Ufa ¥4 Wiex & SR 350 T Hiex &1 ¥4 AT & TH Ha- &1 g1 @ &:
1. Rs. 97500

2. Rs. 67500

3. Rs. 77500

4. Rs. 87500

Correct Answer :-

» Rs. 87500

62) The approximate number of masons required for plastering a wall of length 25m and height 3m is )

zsﬁﬁﬁ;ﬂ%eﬁ?sﬁammﬁwmwwﬁﬂmﬁ%mmﬁ%ﬁﬁaﬁmﬁam
|

1.8
2.7
3.6

4.5

Correct Answer :-

63) The IS code used to perform a standard penetration test is: /

TS A a2 URIE0 H F g IuaiT foma 1 1s s 8:
1. IS 2720

2.1S 2131

3. 1S 2386

4.1S 456

Correct Answer :-

- IS 2131
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64) The volume of one bag of cement is )
e & T& S o1 Sad g g

1. 34 Cubic meter / 34 Y Hex

2. 3.4 Cubic meter / 3.4 g Hiex

3. 0.34 Cubic meter / 0.34 g Hlc?

4. 0.034 Cubic meter / 0.034 T HleR

Correct Answer :-

« 0.034 Cubic meter / 0.034 Y4 Hiex

65) The type of bond consists of alternate course of header and stretches is: /
IS & 59 PR # 73 3R W & Ifed® HH §1 5

1. English bond / Sf=T di<

2. Diagonal bond / ST a8

3. Flemish bond / TRIHRI S-S

4, Raking bond / RERIEIS

Correct Answer :-

« English bond / ST dI<

66) The useful part of liveable area of a building is called of]

TS UG S WA A TR BTSN YRT  Hgarar sl
1. carpet area / Wﬁf?.' Qﬁtﬂ

2. plinth area / T&TY TR

3. horizontal circulation area / BIRSCd Yo TRAT

4. circulation area / H AR TRAT

Correct Answer :-

 carpet area / BTYC QIQCII

67) The formula for flood discharge are mostly of the form: /

16 fAde (wrs feamsh) ¥ fore 3 sifeive: s U dA g §:
L Q=C+A-+n

~Q=Ca=

;. Q=Clog:(n)

5,

Correct Answer :-

GET IT ON

Google Play
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68) The term is used to designate the part of a structure that transmit its own weight, weight of the
superstructure and other forces which may act upon them. /

e, BT ITANT TIIAT & I U B! (At 1 & fore foegn Sram @ o T 31 YR, IR &
YR TUT 3T g 1 TR H2aT 2, ot 39 W HRIG 8 9 &1

1. Plinth / fify

2. Live load / dlgd s
3. Foundation / BTSSR
4. T-beam / T-§MY

Correct Answer :-

« Foundation /™ G'éQ I

69) The number of modular bricks required for 2.5 Cu-m of brick masonry is: /
2.5 ¥ Hiex 3¢ A & e sirawas yamdia gei o0t §e &:

1. 1550

2. 1435

3.1250

4.1625

Correct Answer :-

. 1250

70) The measurement is not made in square metres in case of i
& ATHA § |19 ¥ HeX H 78 T gl

1. reinforced concrete chajjas / Udferd dehic Booll

2. form works / T BRI

3. concrete jaffries / PHblc STHT

4. damp proof courses / T A<t Hr

Correct Answer :-

« reinforced concrete chajjas / Udferd debic Sooll

71) The shortest distance from the root of the fillet weld to the face of the diagrammatic weld is known
as .

firdic dcs 9t gd (F0) A SIS de & BAD DI ~gIqH g3l Bl PEISTaT|
1. effective length / qyrat F‘Ia'l_ic

2. effective cover / THTAT START

3. effective throat thickness / THTG! & Ih?l_sc
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4, effective depth / YT TS

Correct Answer :-

« effective throat thickness / UHTdI &S 'J:h?l_iE

72) The highest point (in cross section) of a curved road surface, commonly at or near the center is called as
.

meaﬂgagmagmﬁg@hﬁmﬁ),ﬁm:Wu?mmﬁwwm%,
Pedldiel

1. summit / RG]

2. peak / et

3. cross fall / 1 WTd
4. crown / TS

Correct Answer :-

e crown/ ?Zﬁ'ﬁf

73) The process of mixing the sewage with large volume of water to keep in aerobic condition is known as: /
gl fRufa & T@a & g ora &) 91 91 & Ty va Ay w39 3 ufeear $) 339 919 A S 91 8:
1. Current / SIcTUdle

2. Oxidation / 3{eRfTHRUT

3. Dilution / PRI
4. Sedimentation / 3{ddTgq

Correct Answer :-

« Dilution / 0]

74) The portion of a wall between facing and backing is termed as .

NN FIM AU ABA UM F AT YRS eI AEI |
1. facing / BRI

2. backing/aﬁsﬂ

3. hearting/BT%T

4. racking /X

Correct Answer :-

« hearting / Elié.’

75) The hydrometer test for grain size analysis is based on the principle that: /
ST HTHR [ A5 fawauo F g grggiiies wdigmn A figia = smutha gt &:

1. The grains of different sizes fall through a liquid at different velocities /
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fafH=1 STHRI a1l HUT Ueb TR B HieH  fAfdH=T 9 R IR B

2. The grains of different sizes forms clusters /
A= SMTHRY aTal T, T} (FaReR) o1 fmfor #xa B

3. The induced centrifugal force separates out the particles based on their grain size /
NG U F, HUN DI JTD SHTHR P YR TR SERT-SHT IR Sl 6|

4, The repulsion of water causes grains to settle at different times /

S & Ufdp YT & BRI, HUT -3 JHY H RR g1 &

Correct Answer :-

« The grains of different sizes fall through a liquid at different velocities /

fAft=T PRI aTrd BT T IR & F1eH I fAIf= 3m R ARA B

76) The maximum area of tension reinforcement in beam shall not be more than ./
19 ¥ q-1a ufaae &1 sfirean §awa ¥ 3ff¥re 751 g1 T

1.0.01b D

2.0.0004 D

3.0.004 bD

4.0.04bD

Correct Answer :-

« 0.04bD

77) The soils which plot above the A line in a plasticity chart are known as: /

3 Tt 5 grwrar a1 § A 391 & HUR @7 o1l 8, i & w0 3 S ol g
1. Clays / for=it flrgt

2. Sands /XA

3. Silts / TG

4. Organic soils / Sfaw e

Correct Answer :-

« Clays / Fae-t firg
78) During sewage treatment, effluent from has the minimum wt/vol amount of suspended solids. /
s ITER & IRM, ¥ 3rufry fAefad a1 uerif &t <Faw wt/vol TRT B

1. secondary sedimentation tank / H1ealie dasce ol

2. detritus channel / ?:@:W%T‘lﬁ

3. primary sedimentation tank / Ui daiec <l

4. activated sludge process aeration tank / BIER) aﬁatd: ufdan a'rq&f%m TP

Correct Answer :-
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« secondary sedimentation tank / H1eafle dasce ol

79) In a good staircase, the pitch of the stair should ./

TP 3D o1 # (RWR H9), N #) Fu1g 39 yeR g+ =ifge:
never exceed 90° and should not be flatter than 45°/

1. @ ofro0e F 3ifaE AT gt =fRw 3R 45° & ST AT @8 g =T

never exceed 60° and should not be flatter than 30°/

o, Fofr 860" F 3 AT gl AT 3K 30° ¥ e wAAW g7 e @R

never exceed 40° and should not be flatter than 25°%/

5, @il 8fT 40° & 31fE 6T gielr =IgY 3R 25° § SAET AT F@6T gkl =RT|
never exceed 60° and should not be flatter than 25°%/

4, Fefr e 60° I 31fa A8 gl TfRT 3R 25° ¥ SEr AT A8 gl WfRv

Correct Answer :-

never exceed 40° and should not be flatter than 25°f

., @eft st 40° & fas «gr gt =ifgw 3R 25° & A §5aw A gl @1fgv|

80) It is always desirable to carryout survey work from____ ./
WIAUIBHE P A GART A graT gl

1. part to the whole / W@EUTW

2. whole to the part / U;Ufﬁ YT d

3. higher level to the lower level / 3o ¥R I g TR a®

4, lower level to higher level / 79 TR W S R ab

Correct Answer :-

« whole to the part / U;Uf@ HIT dP

81) A fine grained soil has liquid limit of 60 and plastic limit of 20 as per plasticity chart. According to IS
classification, the soil is represented by which of the following letter symbols? /

ol 91¢ & AR, J&H BN areit YT W 60 BT avardT STHT TUT 20 Pt FaeddT ST gidt 21 1s Fiffewor
F IR, YT B F= 31eR uedtel & gR1 e forar siran 82

1. CL
2.CH
3. CL-ML

4.Cl

Correct Answer :-

82) When considerably excess quantity of chlorine is added than that required for bacterial purification, it is
called J
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?mmﬁmmmammmmaaw BT SITal
|

1. dechlorination / FETINRARM

2. residual chlorination / WW FAMNRARA

3. super chlorination / JUX FAMNRARH

4. break point chlorination / ECY =] Bt FANRARH

Correct Answer :-

« super chlorination / JUX FANRARH

83) CANCELLED

Laminar flow takes place in a circular tube. At what distance from the boundary does the local velocity equal the
average velocity? /

yuigely yaTe Ueb Tiie egd A g1 2 | a9l & fbat g8t wR R 3 sivrd 3 $ sRTeR 8 et 22
1. 0.29R
2. 0.94R
3.0.32R
4.0.53R

Correct Answer :-

« 0.29R

84) CANCELLED

Cement and water slurry coming on top and setting on the surface is defined as .
e ud od BT HeH (Fd) BT AW IR 31 TUT FA§ W TG 11 Bl & =9 | Ryt fosar s
TP gl

1. segregation / ICERPISE
2. crazing / HISHT
3. bleeding / AU

4. laitance / AT

Correct Answer :-

. laitance / W

85) CANCELLED

Shelby tube is one of the most widely used devices for: /
Raars ogd A & fore watfie ugea g4 ardl fearsw 8:
1. Drilling rocks and cobbles / Al T afear Bt fii;'l%ﬂ'f

2. Measuring effective stress / gyTdt ufaed & Ao


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

3. Wash borings / ST b1 ?\K’I'I_sc
4. Collecting undisturbed soil samples / SSferd ﬁl@ & qj:lff THEd B

Correct Answer :-

 Collecting undisturbed soil samples / SaTferd ﬁl@ & :lﬁ?f THHAT HA

86) CANCELLED

Which of following is the least count of leveling staff? /
frafafea & & o Aol i $1 sreuanis a1 gidT 82
1. 0.5 mm

2.0.5cm

3.5cm

4.5 mm

Correct Answer :-

¢ 5mm

87) CANCELLED
Name the equipment which is used to measure the pavement surface condition in terms of unevenness index. /

=1 B A 98 DI A1 IUBRT 8, ORI ST SRIHAT AP ® B egract F g Jagt srawt &
AT & fore far srar 82

1. CBR apparatus / Tei13R m

2. None of the above / s‘vn?r I aﬁ‘s“ :|_E§T
3. Ring and ball apparatus / EUREEIS] QC&E\H

4. Bump integrator / §T g LR

Correct Answer :-

« Bump integrator / EL| gé IR

88) CANCELLED

As per IS 383-1970, the crushing value of an aggregate used to cement concrete pavement should not exceed

.
STSTH 383-1970 F ATVR, JHHe Hplc Feurd & RS frraaadsasidgaaad . 9
3T =TEl g IR
1. 45%
2.35%
3.10%
4.25%

Correct Answer :-
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89) CANCELLED

The number of horizontal cross wires in a stadia diaphgramis ./
e RS sramp™ A e w1 arY 3w 2l
1. one / TP

2. two /Gl

3. two /Gl

4, four /dR

5. four / R

6. three / GG

7. three / =

Correct Answer :-

« three/ GGl

. three /T

90) CANCELLED

The maximum bending moment at “A’ for beam shown in the given figure is given bv: /

fw o fx & RBaw e ((7) F &0 A" ) 3f@aan g6 3t oeear f

W kMN/m

. *’f‘f:fi: m"?“r--w---_%ﬂ

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

A rectangular plate 0.75m X 2.4m is immersed in a liquid of relative density of 0.85 with its
(0.75m side horizontal and just at the water surface. If the plane of the plate makes an angle of

60° with the horizontal, then the pressure force on one side of the plateis . [/
0.75m X 2.4m $T Ush FIdR Tele, 0.85 & AMfaEld gdcg arel g§d H, 5T 0.75m
ass aAfafsis w0 & SiF o« 1 §d8 W 5915 A 81 I wie &1 ga dfds &
60° T HIVT FAT T6T &I, O ToE $l Tdh AB5 W g Brem|

1.7.8 kN

2.15.6 kN

3. 18.0 kN

4.24.0 kN

Correct Answer :-
« 15.6 kN

92) The observed value of the standard penetration () at 10m depth of silty sand depositis 13. The
unit weight of the soil is 16 kN/m?®. The N value after correcting for the presence of fines will be:

/
drersgadd Xd T F 10 TR a9 A g (755 Afdes) (N) & A 13
adlfhd TRIT TRT| TS FT SHS TR 16 kNm’ g1 916 & G & gig N &7 71
A= gem:

1.12

2.13

3.10

4. 16

Correct Answer :-

93) The development length La’ of bars is calculated as: /
T3l (I) T TAFaa @eas Ld ol 791 56 ®9 & HT ST e

Ly = £
a szd
1.
Ly = il
: S5Typg
2.
0o,
Ld =
3
3. Tba
Do,
Ly=
4
4, Thd

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

94) According to IS 800:2007, the limiting value of slendemess ratio A for a member subjected to

compressive load resulting from wind and earthquake forces is i

IS 800:2007 & 38R, alg 3R &9 Feil & IRUMAETET qfs3d AR & el v
e & v agar seua ARt Hiffa A )

1.180

2.250

3.210

4. 150

Correct Answer :-
« 250

95) Ifthe whole circle bearing is 327 24, then the reduced bearing is il
afe qot gea st daRer 3277248, ar #\ faam gam aaiar el

1. N32°36 W

> N3632'W

3 S3632E

4 S32736 E

Correct Answer :-

. NiZig'w

96) The strength of a joint in a bolted connection is 620 kN. The size of plate is 180 mm width and
20 mm thick Ifthe vield strength of material of plate as 250 N/mm? and partial safety factor as

1.1, then the efficiency of the jointis___ . /
dec ¥ o3 U Foaerd A S5 Hi G 620kN g ST FH MR 180mm =isT 3R
20mm HET §1 AT voie 6T e $1 dies T 250Nmm? & AR 3RIE Gear sRE
(g v bae) 118 aras frgaar B

1. 90%

2.63.67%

3.75.75%

4. 65.75%

Correct Answer :-

e 75.75%
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The coefficient of volume compressibility ‘m,” has an unit of: /
dlegd IS ‘m,” & AOTE H s T g

1. m/kN

2. kN/m

3. kN.-"m:'

4. m:;"kN

Correct Answer :-

m :.'kN

98) Delta(A)in cm, duty (D) in hectare/Cumec and base period (B) in days are related as: /
TAT # SeEr (). /AT E H sg8 D) IR AT A aw dims @) e w1 A
i B

A=864 2
D

D=8.64 =
2.

B=g64 2
A

B-g64 2
4. D

Correct Answer :-

99) The ratio of 5% day BOD of the industry in kg/day and BOD contributed by each person in

kg/dav is termed as o

foram/fe 37 3eger & 5° e %1 BOD aur fFanfea & vle =afdd e@RT e
BOD &I 3ieurd FEA ¢

1. relative stability / JTUfei® RIAQ
2. population equivalent / STFRIRSHAT JeTh

3. total organic carbon / P Sfae HTeA
4. oxygen equivalent / SfiRfToT GG2ICE

Correct Answer :-

» population equivalent / STERAT W
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A steel column (fy=250 N/mm?, fu=410 N/mm?, and fed=200 N/mm?) of effective sectional area
6000 mm? will have strength equal to i

6000 mm? FHTET FFereTel TRAT (eSS &abel) gl TS & TaA (fy=250 N/mm?,
fu=410 N/mm?, fed=200 N/mm?) T amered & &Y BN

1. 1200 kN

2. 1500 kN

3. 2460 kN

4.3000 kN

Correct Answer :-

« 1200 kN
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